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At present solution exact solution | relative error
0.005 1.009179 0.990123 0.019245
0.01 0.981818 0.980486 0.001359
0.05 0.917021 0.910711 0.006641
0.1 0.840903 : 0.839138 0.002103
0.2 0.708099 0.728975 0.028637

Table 1. Numerical solution and its relative error
Here h=0.05, a=b=1.0, N:=100,

Table 2 gives the numerical solution and its relative error
at the time T=1.0=nAt (n=1,2,4,5) on x=0.0.

n | present solution | relative error
1 0.370757 0.012591
2 0.371562 0.014789
4 0.371245 0.013924
5 0.371450 0.014483

Table 2. Accuracy of present solution
Here h=0.05, a=b=1.0, N=100. The
exact solution is 0.366148,
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Figure 1. Numerical solution
Here a=1.0. The diffusion number for case (I)
is 1000, For case (II) the diffusion number
is 5000.



